PATHOLOGY EXAM 3 2001
6. What is the most common cause of esophageal varices?

A. Alcoholic cirrhosis

B. Superior vena cava obstruction

C. Inferior vena cava obstruction

D. Degeneration of ganglion cells in the esophageal wall

7. Which of the following is induced by chronic autoimmune gastritis?

A. Thrombocytopenia

B. Pernicious anemia

C. Neutropenia

D. Erythrocythemia

E. Plasmacytoma

8. What are the requisite for peptic ulcers to develop?

1. Helicobacter pylori

2. Gastric acid

3. Cigarette smoking

4. Pepsin

5. Alcohol abuse

A. 1 and 3

B. 2 and 4

C. 1, 2 and 3

D. 3, 4 and 5

E. All are correct

9. What type of inflammatory process is most commonly (50-70%) observed in Crohn’s disease?

A. Fibrinoid inflammation

B. Inflammatory fibrous hyperplasia

C. Suppurative inflammation

D. Noncaseating granulomatous inflammation

E. Serious inflammation

10. A 15 year old male visited a dental office for treatment of a large carious cavity in the right lower 1st molar. The dentist noticed that the patient has abnormal melanin pigmentation on the perioral skin, the lips, the buccal mucosa; as well as the finger tips. What other pathologic condition does his patient most likely have?

A. Multiple impacted teeth

B. Multiple odontogenic keratyocysts

C. Multiple neurofibromas on the skin and oral mucosa

D. Multiple osteomas in the mandible 

E. Multiple polyps in the intestine

17. The most common cause of right side hear failure is:

A. Myocarditis due to coxsackie virus infection

B. Left heart failure

C. Rheumatic fever

D. The dilated form of cardiomyopathy

E. Right ventricular rupture

18. Rheumatic fever is characterized by all of the following features except one. Choose the exception:

A. Repeated episodes can result in cardiac valve deformity

B. It induces a pancarditis

C. It causes the formation of Aschoff bodies in the myocardium

D. It is the most common cause of rheumatoid arthritis

E. It follows group A streptococcal pharyngitis in a small percentage of people

19. A 58 year old man suffers substernal pain that radiates to his left arm after 20 minutes of shoveling snow. The man stops shoveling and the pain lasts only several minutes. The man has most likely experienced:

A. Typical angina pectoris 

B. Prinzmetal’s variant of angina pectoris

C. Unstable angina pectoris

D. A myocardial infarct of the left ventricle and interventricular septum

E. Cardiac tamponade

20. Subacute bacterial endocarditis is associated with all of the following except one. Choose the exception.

A. A low grade fever and mild symptoms

B. A pre-existing heart deformity such as rheumatic heart disease

C. Low-virulent organisms such as Streptococcus viridans

D. Possible embolism of infected endocardial thrombi

E. Infection and damage of a normal heart

21. A 47 year old woman has suffered from a long-standing pulmonary disease that has caused progressive interstitial fibrosis and cor pulmonale. The latter is characterized by:

A. A left to right shunt due to a ventricular septal defect

B. Mitral valve prolapse

C. Right ventricular hypertrophy

D. Left ventricular hypertrophy

E. Aortic valve stenosis

27. Beta-thalassemia major is characterized b:
A. A hemoglobinopathy caused by a substitution of valine for glutamic acid at position 6 of the beta-globin chain

B. Clumping of hemoglobin due to deoxygenation in peripheral tissues

C. Aggregation of alpha-globulin chains and removal of red blood cells by macrophages in the spleen and bone marrow

D. Gradual loss of red blood cell plasma membrane due to shear stresses in vascular channels

E. Anemia due to a deficiency of folate

28. Sickle cell anemia is associated with all of the following features except one. Choose the exception.

A. There is a lack of symptoms during the first 6 months of post-natal life

B. Microinfarcts occur in peripheral tissues

C. Marked erythropoiesis to replace damaged red blood cells

D. Autosplenectomy

E. It is inherited as an X-linked recessive trait, occurring only in males

29. Iron deficiency results in a:

A. Hypochromic, microcytic anemia

B. Hypochromic, macrocytic anemia
C. Hypochromic, normocytic anemia
D. Hyperchromic, macrocytic anemia
E. Normochromic, normocytic anemia
30. Pernicious anemia is caused by deficiency of:

A. Iron

B. Intrinsic factor

C. Glucose-6-phosphage dehydrogenase

D. Beta-globin chain synthesis

E. Alpha-globin chain synthesis

31. As a group, diffuse large cell non-Hodgkin’s lymphomas:

A. Are low grade lymphomas with indolent clinical behavior

B. Have a much better prognosis than follicular (nodular) lymphomas

C. Often arise in oropharyngeal lymphoid tissue of Waldeyer’s ring

D. Are associated with long-term survival even if untreated

E. Arise exclusively in the thymus

32. The African form of Burkitt’s lymphoma:

A. Is associated with Epstein-Barr virus (EBV) infection in 90% of cases

B. Occurs in females over 50 years of age

C. Has many Reed-Sternberg cells present in histologic sections

D. Is a very-slow growing tumor of T cell origin

E. Usually presents clinically as an abdominal mass

38. Disseminated intravascular coagulation:

A. Is caused most commonly by sickle cell anemia

B. Is caused most commonly by ischemic heart disease

C. Is associated with a normal partial thromboplastin time (PTT)

D. Is due to an excess of von Willebrand’s factor in the blood

E. Causes a bleeding diathesis due to rapid consumption of platelets and coagulation factors

39. von Willebrand’s disease:

A. is characterized by a normal bleeding time

B. is due to a thrombocytopenia

C. cuases reduced platelet adhesion and thus a prolonged bleeding time

D. is due to a deficiency in factor IX

E. Results in high levels of M component in the patient’s serum

40. A characteristic manifestation of thrombocytopenia is:

A. Hemarthrosis

B. Prolonged partial thromboplastin time (PTT)

C. Prolonged prothrombin time (PT)

D. Petechiae

E. Normal bleeding time

41. Over 95% of primary lung cancer is:

A. Mesothelioma

B. Bronchogenic carcinoma

C. Vascular Leiomyosarcoma

D. Chondrosarcoma arising from tracheal cartilage

E. Non-Hodgkin lymphoma

42. Acute respiratory distress syndrome is characterized by:

A. Hyaline membranes in alveoli

B. Massive pulmonary fibrosis due to silicosis

C. Loss of elastic tissue surrounding alveoli and terminal bronchioles

D. A persistent productive cough lasting 3 months 2 consecutive years

E. Jaundice

43. Paracinar emphysema

A. Occurs most commonly in all lobes of the lung

B. Is defined as having a persistent productive cough for at least 3 months in at least 2 consecutive years

C. Causes the distal ducts and alveoli to become highly distended

D. Is caused by an inherited deficiency in elastin

E. Is the main cause of interstitial lung disease

PATHOLOGY EXAM 4 2001 – Endocrine Questions
6. What is the difference between Cushing’s syndrome caused by a pituitary basophil adenoma and Cushing’s syndrome caused by an adrenocortical adenoma?

A. Melanin hyperpigmentation of the skin and oral mucosa in the former but not in the latter

B. Multiple neuromas in the skin and oral mucosa in the former but not in the latter

C. Intestinal polyposis in the former but not in the latter

D. Polyuria in the former but not in the latter

E. Nephrolithiasis in the former but not in the latter

7. Which disease/syndrome is characterized by melanin hyperpigmentation of the skin and oral mucosa?

A. Waterhouse-Friderichsen syndrome

B. Multiple endocrine neoplasia syndrome type III

C. Addison’s disease 

D. Conn’s syndrome

E. Graves disease

8. Secondary hyperparathyroidism is caused by and condition which depresses the serum calcium level and kidney failure is the most common cause. In kidney failure, there is loss of calcium through the kidney and there is also:

A. Failure of hydroxylation of Vitamin D resulting in failure of absorption of calcium from the gastrointestinal tract

B. Inactivation of osteoclasts resulting in failure of mobilization of calcium from bone tissue to the blood

C. Overstimulation of osteoblasts resulting in overmineralization of bone tissue

D. Stimulation of chrondroblasts resulting in replacement of cartilage for bone tissue

E. Overstimulation of follicular cells of the thyroid resulting in secretion of excess thyroid hormones

9. Type II diabetes mellitus is caused by a derangement in beta-cell secretion of insulin and a resistance of peripheral tissues (cells) to insulin. Derangement in beta-cell secretion of insulin is evidenced by:

A. Lack of insulin in the blood

B. Hyperplasia of peripheral

C. Amyloidosis of the islets of Langerhans

D. Hypoglycemia

E. Inflammatory destruction of beta-cells
